(0 @) (rad)

Ratio

PACID;

vy,

Ratio

o p/p.)

107 1

=
<
N

0.95

[any
<
i

A <+
- b 1
A 0
B P S 1

2 3
TPlpoT (PCA t%obeamlinélf)

~
=
D
=
Q
o
O
=
o]

0.95 :
107 1

11
+ . .
b pUNN b .
Py 5 - .
+ . d
- R R .

2 3
TPlpoT (PCA t%obeamlinélf)

DUNM_MKFIT_T Tbase
DQM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter
DQM_mkFit_TT baseline_6iter

DOM_mkFit_TT RetrainV2_WP1_6iter

b
b

L
15— ---------------- ..-‘_“' ,. + 0-0-::-5 ------------
-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

F . +
F H ES +
E : 4 ]
[ PR P
F : + ]
E H 4+ ]
E *

2 3
TPl[:g)T (PCA t%)obeamlin%)o

oo a,) (cm)

z

0. :
1071 1



	Contents
	Page 1


